Fet ARBPRA)EZ &5 107

g

B S R RS

¥ FT g N CAE A

AT R S YRRy A S N
lLAR@EEE 1% 2 6 o

2. kA EA I EIA D~ HEEI S CHEHESF
3. & NRAICERM S 55 A4 T dot BAL:

- CEHI B2 2164

1. (1)58§’}3‘%“?*5;\/}§,5%—7}Q
D5 24 8% @50 &4 8%k

@500 24 80 T @58 24 0 F

2. (2Dl v EHBEL 22 6FF > 2 VR
B -iRM L F 0050 E g9
Dl 2>~» 8+ @l ax 2% X
@ ar 3L D4 2x6%FK

3. (2 )2 icFhiat i, T L4k
EF 204 SO E
$?2 Dl4d>42r8%F QTasrbxEf
@36 225 FF Db ox6F K

4. C2)™ & BA)eha fied <3 #£5 2

jcm

ST T &L IA[ [ e

DOo>%>1 @9>Mn>%
Q@x>49>1 @nN>49>%

5. (4 )EER - ¢ BETALHIBA > & A
FUAT 8EMEEEEBERKT § 0
37?7 Obl43g Q6713 713 %
D424 3¢

6. ( 2 )pining BT2 %% T A X8 B+
o ERHF G 1093 HE o dok it T L
w100 BRI EBEFF 5 UM
59?2 O6%r Q@83 Ol03F D123

7. (3) —#k3 22902 > 7w A s "
29?2 O399+ @390 =
@3090 =2 @3900 = =

8. (3) -2k kF222450%4 » B4+
28k - %3 5 ARE?
DO8 2 2002 @4 == 90 =
@4 =2 900 2 D4 = 450 = 2

ERE S Ry L
TRz TEEIFR o
S HEF AR LA £ 364
. GHEMAEERI ZTHEFAIFIYS AL
A7 9% FR s s EmR( 12)-
2. AT G KR o
s e N B B o B B B
0 2 4 (6)8 (10)(12)14) 16 18 (20)

.- EETFLELOAIFL - EENF L 28
EX o EUFEpL(C 9 DEFL o

4. =

B Hechd FARELL TS A8 g IR

Y LR

lecm
lcm
a
¢ K
Iy B ¢ K
B ELC 12 Ddem | C 18 Ddem | C 18 )em

af | C 9 )em? | (C 11 Hem? | ( 8 )em?

5.7 WAL~ RE S 24 -

|cm

(He

P
(2)(

(11 dem'o e (12 Hem'o
tC9 deme 7 (0T dem’ e
¢ e fEEt (7 )ehn frdo] o

#E£EC 5 Dem’e
6. BB - gL HEH A EEF T - L4

i

c T 128 A0 EER (16 DS
MCHF b o F o B4 A vk |




7. 3 FF a5 - f
—xXTR QTR RREEY T R R
( 119 )= -

8. & VRE >~ <=

(Lo =2 (< )6 ad

(2)4100 =2 (C > HY4=>27%4

(1080 = < )1 =2800%H

DT =2>240F2C < ) 7400 2

9. H 2 AR T (FHELFTWEE)

(D&M - = HE750C 22 ) -

(2)i— =texy* 3 18(C =2 Hegvk o

B)- & FEMDEE I 24 o

D- BAFZEEHEIC L )o

0.+MEEC 170 HF2.

1. 8- 8-(
(1) 238+=( 34 )=1T

Vi kg 9

(2) (39 ) x 1= 273
(3) 136+=C 34 )=4
4)8x ( 34 ) =212
(5) ¢ 296 ) +8= 37

B EM2A £ 204
A8%F =(C 58 ) FHF
@81 =(C 8 ) 2an( 1
1= 0.7 ) oA

@000 F 2wy A 7T o
O ~2 5 x2vHES (6005 )E 2

®3600 2w HEX(C 3 ) 22600 )L

) £ 4

@8 24 4135 2-346 2 =( 8 )24 ( 67 )FH

@1 =~ 550 F 241250 F4=(2 )22 (800 )%=

©2 ~2 100 # 2 -1050 = = =(1

@3 22 250 F 24245 F 24 =( 3 )= ( 495 )=

)= (50 HEH

V.8

1.

R

RGOV AR R

REAREFR PR R 1Al 2

N/ R WA RE
”ﬁ*fﬁ%”‘qﬁ%ﬁ’%{w’\/} LS
ar2FF T3 F st ELY

£: 6280 8%K
4 % ¥ ’1ﬁmw“& e
T Raamr R BEF?

B:3224 14
LEEITAAGEN 0 - KR LE 179
ER VM- IV RE VApL S EA Y

l"‘”.‘

x F
e 16
%w-ﬁi\‘

g RILE,
’%%Eﬁgﬁ -
RN T R C N

?‘3&3’3@’#35%:'@‘]

*_WLC}D
DO

N

F.24 0
%4ﬁ%€’i9%8ﬁlﬂx’ﬁﬁl
&~ 315
=N

S BFIT 6L GNP E
‘?[q’f ( )mlf/z‘,_ﬁ.} FUF‘; &a

%126 &
- #3 1600 & 2 efirde F o el i 250 £ 2

%1rr*' XA g hEA 9

(1 22 350
m’p"_f?_ ’ Eg ¥ A
_t

R

¥

N

,J
FL OO0 FH v B 25y SA= k-

50 % A gw 89

$:222 100 %=

$FFERIBL ARG ok |






